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Grey line: exponential fit Peak flux: 4.892+/- 1.253 c/s/cm?

Black line: power law + gauss fit Fluence : 25.82+/- 11.24 clcm?

Dashed line: power law o ’ '
Duration: 13.62+/- 6.51s

Best fit model: 1.

‘ Best fluence model: 1.

‘ Best duration model: 1.
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Exponential fit
Expon. time: 2.86+/- 1.13 s (chi*-red= 0.82)

Time [s]

= | =
ST i ot g m o | i foboh o 3
= ggHﬂﬂﬁwﬁﬁ WWW*H**ﬁﬁ“ﬁ“ﬂwWW JH ittt HH H*HHH u Hﬁ*ﬂﬂﬂw*HHWHWHWMWHﬁ*ﬂHﬁﬂ*ﬁ*ﬂHWﬁ*ﬂ*ﬂ wﬁwm MW@
; Power law fit é
E Power law index: -2.536+/- 1.026 (chi*-red= 0.81) =
& | &
Sy bt bl m T it Fboh ! 3
= +mH*HWM Hﬁﬁﬁ%**W*ﬁ”ﬁwwﬁﬂHﬁW ﬁjﬁ%ﬂﬁ*H+#ﬂﬁﬁﬁ**HWHJ**HW Wﬂﬂﬁw Y Wﬁ@ﬂﬂﬂ m%ﬂ#%ﬁmﬂﬁﬂﬂﬂwﬂ wﬁwﬁﬁﬁ Iy mﬂw@
i T T T T T T T T T T T T T T T T T T T T T T i
—  Power law fit plus Gaussian (st.dev.= 30.41+/-35.71 s, fracgs= 0.19+/- 0.19) =
- Power law index: -4.364+/- 3.290 (chi*-red= 0.82) 3
= | =
ST bt b el m Wt ot bbb 3
= +Wﬂ“ﬂﬂ*ﬁ* HﬁﬁﬁﬂmHWWW ﬂmww WﬁH+ﬁﬂwWm{ﬂ%m jﬁmﬁﬁﬁw Wﬁ Wﬂ“ Wﬂ o Hﬁﬂ+wwﬂﬁﬂﬂﬂmﬂ i W W **HWW&
E 1 L L L L L L L L L 1 L L L L L L L L L 1 L L E

0 100 200 30

0



